EARAROBEEIERT — 2 N— IBISH —F

20125F8A26H (H) 10m{£E2H

m 2— 38 Yo% 2% ‘ (X&) W ‘ [REmm]l  — | 4 (%) 0900M &
[AE£] 1% :290,000” ~ 2%&:67,000”  337%&:26,000H  43%&:1500 M 53 :9,000 8
B BB mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
s R se meE% :57. — . — RS (1£8)
11811 ¥/ 772422 — 2 54.0 0(5_7)6 . .3 ’ f_sf) HIATS .
L7782 AF4 97748 B:ousAav s WHE IE
5 e o Al :58. = . - ABIEYX (158)
2|11 | P RU=LYay b ot 2 55.0 0528)0 s 94 6 ?ff) AGIR -
7787497748 B:vw/0 JE—F N 4505
Sk P ft o2 | WO® 0:58.1 1-2 4.2 — 1 497 | AR (ER)
3|55 | FAIXTL—} 54.0 (1/2) (-3) |REBE
R:vavrh>7 B:HI/IIREb K7 7 — L
» . = BB : — — BHEXE (£8)
4 4 HA41) T Lh—)b 4 2 i (02.518/.26) 6-7 40.1 2 ;t_s; E*’A‘j—ci
R:T5v 08— B NI L &
N f o2 | AMALZ 0:58.9 4-5 405 — 7 418 | ISR (EE)
5|8[10] =/ KFU—A 54.0 (1172 Ly | TR
R:HALY bFr—Ib B4 4T XA LasEe]
. e e IIFHaE -58. » . = WneE (£8)
679 ¥F7>7LAR R B ?7585? [ ’ (3_937) EEEh
Zoxyand— BANFIO 1L *33 3405
N NS : = — FlIEE (1EH)
7 A= S e i 2 it 0.(529>.3 8-8 39.7 3 zzgf i}iK;ﬁ i
L:7H14FLAL BU—NTUZXEIL < IVE U BEREIS
RSN R . B8 : — — AR®YE (ER)
8 6| ¥Araran k- o2 i 0.(529).7 9-9 39.8 1 :3_012) e
LARYIFRYT—/ B4 0K FEH ®UF
TR BEmh :59. = . — ittt (1£%)
9 2 FUALHESY 4 2 ] 0(15/92>8 2-4 4.7 5 (4;2) AL 1
RivAFINTYT BiLY—FH—I KA
4 o2 | WTES 1:00.4 -1 [39.4| — 8 459 | HENE (1ER)
10 3 Hh/NK=7 55.0 (3) 0 AT A F
R:T5yyk—9 BRIy hT—H FABI4I5
= i o2 | IS 1:00.9 10-10  [41.7| — 9 350 | PIES (£ER)
7|8 | Fx¥/ 177 262.0 2 1/2) Gy | AiEA
L:AR)IFNIT—/ BV TICTVI Al #4
@ 1 — S —EBlIEf
13—7+—
230—7—
Jol=5r= 5,2,11,10,1,4,9,7,6,8,3
40—+ — 11,5,1,2,10,9,4,7,6,8,3
[ N3
H OB 1 9,210 714K 1-11 14,700M % E 1-8 8,470H 3EHE 1-5-11 49,360
8 B 1 1,000 5-11 9,830 B = 1-11 182,220 K31
1 450 1-5 830 B H 111 364,650
5 120

ABICOVWTRDTEEERROODE. TR LIV,




